
Time: 40 Minutes Paper G. Science 6th Total Marks: 25

5th Month, 3rd Week, 6th Day Syllabus: Revision Test Syllabus (3rd week)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. Which type of energy is stored in a cell? −−−−~~~~¾¾¾¾nnnnÅÅÅÅZZZZ3333,,,,YYYYffffíííí{{{{ƒƒƒƒCCCCìììì????
(a) Electrical energy Z¼pZ3,Y (b) Polertial energy 7"54hÿ

H
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Z3,Y

(c) Chemical energy ¡Z3,Y (d) Kinetic energy »"545ë JE
G
HZ3,Y

2. Which of the following is used to open and close an electric circuit?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyZZZZ¼¼¼¼uuuuuuuu––––ÃÃÃÃÅÅÅÅ%%%%ZZZZzzzzggggÈÈÈÈ™™™™ääääÆÆÆÆaaaaZZZZEEEEwwwwHHHHYYYY@@@@****ìììì????
(a) Fuse Ai (b) Circuit breaker u–',n

(c) Switch Îó (d) Battery š~

3. In which circuit there is only one path for electric current to flow?

¾¾¾¾uuuu––––~~~~ZZZZ¼¼¼¼uuuu™™™™....$$$$ÆÆÆÆ····îîîîÆÆÆÆaaaaÜÜÜÜssssZZZZqqqq----ggggZZZZ3333ìììì????
(a) Series circuit §m,u– (b) Parallel circuit cZÜu–

(c) Short circuit ÷áĝu– (d) None Ãð7

4. In which type of circuit we connot turn on or off every device independently?

uuuu––––ÅÅÅÅ¾¾¾¾nnnn~~~~ëëëëCCCCÙÙÙÙMMMMááááÃÃÃÃZZZZµµµµZZZZµµµµMMMMyyyycccc****MMMMssss7777™™™™MMMMhhhh????

(a) Parallel circuit cZÜu– (b) Short circuit ÷áĝu–

(c) Series circuit §m,u– (d) All of these tÓx

5. There are multiple paths to the flow of current  in: 

''''''''''''''''~~~~™™™™....$$$$ÆÆÆÆ····îîîîÆÆÆÆaaaaÑÑÑÑ®®®®ZZZZŠŠŠŠggggZZZZ5555ƒƒƒƒDDDD÷÷÷÷XXXX
(a) Open Circuit Zz6u– (b) Close circuit ³iu–

(c) Parallel circuit cZÜu– (d) Series circuit §m,u–

6. Which type of circuit is used in computer hardware?

ÛÛÛÛRRRR,,,,;;;;ggggeeeezzzzJJJJ~~~~uuuu––––ÅÅÅÅÃÃÃÃyyyyÏÏÏÏnnnnZZZZEEEEwwwwÅÅÅÅYYYYCCCCìììì????
(a) Open Circuit Zz6u– (b) Series circuit §m,u–

(c) Short circuit ÷áĝu– (d) Parallel circuit cZÜu–

7. The increase in length of wire_________ the bulbs brigntness. 

@@@@****ggggÅÅÅÅMMMMðððð((((,,,,""""ÐÐÐÐ&&&&ÔÔÔÔ....çççç EEEEEEEEEEEEÅÅÅÅggggzzzzÝÝÝÝ''''''''''''ƒƒƒƒYYYYCCCCììììXXXX
(a) Increases ic*Š{ (b) Decreases Á (c) Moderate Šgxã (d) Different Z

8. The brightness of bulb increases by the increase of:

''''''''''''ÆÆÆÆ((((,,,,""""ÐÐÐÐ¢¢¢¢ÅÅÅÅggggzzzzÝÝÝÝ((((,,,,||||YYYYCCCCììììXXXX
(a) Lenth of wire @*gÅMð (b) Number of bulbs &Ô.ç EE

EÅ®ZŠ

(c) Thickness of wire @*gÅñN*ð (d) Number of batteries š-VÅ®ZŠ

9. A device used to open or close an electric circuit:

ZZZZ¼¼¼¼uuuuuuuu––––ÃÃÃÃÅÅÅÅ%%%%cccc****ÈÈÈÈ™™™™ääääÆÆÆÆaaaaZZZZEEEEwwwwƒƒƒƒääääzzzzZZZZÑÑÑÑWWWW!!!!ìììì::::
(a) battery š~ (b) bulb ¢ (c) switch Îó (d) wire @*g

10. Increasing the number of batteries in a series circuit:

§§§§mmmm,,,,uuuu––––~~~~šššš----VVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ»»»»((((,,,,−−−−::::
(a) increases the brightness of the bulbs

øVÅgzÝÃ(,J@*ì
(b) decreases the brightness of the bulbs

øVÅgzÝÃÁ™@*ì

(c) converts the series to parallel circuit

§m,ÃcZÜu–~ps™@*ì
(d) stops current through the circuit

u–Ð™.$ÃgzÂì
Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i)  What is the function of wire in an electric circuit? Z¼uu–~@*g»H»xì?
(ii) Why are series circuits not recommended for domestic and inplustrial wiring?

§m,u„ywZzgQzZ],8-ÆaYV?m,7KYD?
(iii)  What is the advantage of parallel cirucit over series circuit? 

§m,u–6,cZÜu–»ÃZ+{Hì?
(iv) Is series circuit preferably used in home wiring?

H§m,u–ÃF,Áîg6,ywzZ],8-~ZEwHY@*ì?
(v)  What is current electricity? ™.$Z¼

$o-
ö
G

H
Hì?

(vi) Write down the material required for tripwire security alarm. 

R,\zZ],cgKZÑgxÆa¢zg~ñZŠKX
Q.No.3. Explain factors that affect the brightness of bulb or speed of motors.   (3)

¢¢¢¢ÅÅÅÅggggzzzzÝÝÝÝcccc****ññññRRRR,,,,iiiiÅÅÅÅggggëëëëggggÃÃÃÃOOOOWWWW,,,,™™™™ääääzzzzZZZZááááúúúúZZZZïïïïÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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